S SR R e # A |6, wg o A

T&Wﬁﬁﬂieﬁ? 3 fra Toad
(B) g AT Bl

(C) W ) serE

“Praya% Prashastl had been V(.A) by
composed y whom among the (©)
following in Sanskrit ?

2A§ Harishena ?3% Banabhatta
C) Bhavabhuti (D) Baudhayana

Preferfa & @ 2 9 W % @ @@ W
REeRTH R TR AR AR ?

A Freoe | (B) TSN HC
(C) SRR e (D) e ¥
Which of the following is the large

water lagoon lake situated at the Ei
coast of India ?

A) The Kolleru Lake

B) The Panchbhadra Salt L2
C) The Lonar Crater Lake
D) The Chilika Lake

vy fehem T 4 e
(A) qfa (B)
&) >
The whlte ll%ht is
many colours ?

(A) Five

(C) Seven

e e O Ff
wfRme ?

(Ay ofEman

(C) FKRHE

The Great }

coast of whicl

(A) South £

(C) Austral
Pttt
U B % 3

(A) U qoeTHs

(B) SEATELAT 488
(C) . .3, =SHh
D) ST TSg FETe

Who among the followm

President of the Constituent A
India in 1946 ?
(A) Sardar Vallabhbhai Patel
(B) Jawaharlal Nehru
(C) Dr. B.R. Ambedkar
(D) Dr. Rajendra Prasad

MANPITH VR SO PIVTATETR AN PITTATI VA S0 WIREN .

FK-3




10. “FarEvay” Pafifes & @ feg daw
iﬁmﬁﬁ*qﬁt?

(A) wego
(B) wrfy
_(e) W Fifeem
(D) wEredH

“Kumarasambhavam” is the liteas
work of which of the following wri

(A) Kalhan

(B) Bharavi

(C) Mahakavi Kalidasa

(D) Mahadevi

e

) 23 3
(©) 73
“World Book,
which of the fg
(A) 23" Ap
(C) 7" Ag

. ..L:;

ar @
yonett {9
27
(A)
(C) ]
The parts
states had
canal irch
hundre
(A) €
(B)

€)

-




1mi%ﬁmmmz1
mmmmmmt 7 0
g IEEE T I

(A) FEH (B) AT
(€) ) ferree

™
Which of the fo\lowm% social medla
platforms is best suited for professional

networkmg and job hunting ?
book (B Snapc t

Linkedin.

Bhadohi that is locat
famous for which of
(A) Carpet weaving
(B) Chikankari
(C) Saree weaving
(D) Glazed pottes)
J ﬁﬂﬂiﬁﬁiﬁ +
gER? :
() _dias
() | -. ki
Which of thy el fﬁ’* s
of Uttar Prag
(A) Asho
(C) Oak

3 HA 2
g, T3
(A) i
(C) 1
Surha
also re
Siberi
Jocated
districts

(A) Bi
(B) Ets
(C) Gonda
(D) Sant Kab

PIENTITL PR PITATYY 4 N

FK-3




25, TEL W T afkan. 2006 % AT TH |29 faerfor
Jyafty 1 T T, AEAEN A A h T8 ae! TEIR
wita uft @ H1 Frafefea § 8 F0 % (A)

s g ? ,
(" gft (Holding) f
(B) IVT\Ifq (Grove Land)

(C) §ﬁ \Lﬁ-’l (Agricultural Land)

(D) fa (Consolidated)

A parcel of land held under one tenure or

one lease, engagement or grant is knowny

as which of the following according 1Q

Uttar Pradesh Revenue Code, 2006 ?

(A) Holding

(B) Grove Land

(C) Agricultural Land
(D) Consolidated

. gftemeEes (UPSSF) %1 T0ATH
(B) WY wifers FraaiEL I

\

"N

) Ef Give full form of UPSSEs

(A) Uttar Pradesh Spegi
(B) Uttar Pradesh Solig
(C) Uttar Pradesh So
(D) Uttar Pradesh Soc

7. fraw fim W@

fareferftaa # & fare T

% FE WS B
(C) T [
Nivesh Mitra Mobil
initiative of which of
of India ? :
(A) Uttar Pradesh (
(C) Gujarat '

28, famdao @ fER e
A1 e & 7
(&) T (B) &
(€) %o (D)
Demonetisation 18 also known'o)
of the following names ?
(A) New Currency (B) No Currency
(C) Cashless (D) Note Ban




R

32, Prefifes § 8 A9 @ g wrwd ol |35, S @ Fra g @ 8 B

' S am gaafly HAlfewa HEE
?‘Immﬁvﬂmmmaﬂx AGET AR sl

e ¥ F F439H (KLI-SOFC) %I
s Oy e % feru St % 2 \(;v)/”ﬁﬁalﬁé? o ot e

fem v R 2 i |
am?apim (C) < @ s (D) A TS

o ST Who amon tt}c : }folilowm

B T inaugurated Kochi-Lakshadwesg

o WW Subiiﬁarinc Optical qFlbcr

e mm (K[.l-SOFC)rccently.

\(9)/ To1 T (A) Shri Y/\l\arg:tnéi{‘a Maod

Which of the following awards is given %E; ‘IS)':TlS. ?:ish :

to motivate Cooperative and :ﬁlk (D) Shri Rajnath

; i £ t - A
producer Companies to grow and 10 | o onn gpfieg

instill competitive spirit ?

(A) Dronacharya Award

(B) Dhyanchand Award

(C) Arjuna Award

(D) National Gopal Ratna Award

33, Prefufed § @ w1 9 6GEE F99, TH0d

AfREe ?

(A) HimoR ¥EUTE S
&(B) FATRTATS A& 4GUIE.
(L) TR FETTE P

(D) iEe SeTIE (e SetiiE)

Which of the following ports ist

in Kuchchh, Gujarat 7 *

(A) Mormugao Port ‘

(B) , The Jawaharlal Nehru

Paradwip Port |
(D) Kandla Port (Deendayal POrt)

34, zE A A, ot st g 3 Frefo
fh WH W IEE FTRed

et 7% §fea1 (NCDFI) % 5@

(A) TR (B) #el® T 9T 7
(C) AT (D) g

Recently, Shri Amit Shah has laid the
foundation-stone of the headquarters of
National Cooperative Dairy Federation
of India (NCDFI) at which of " the
following places ?
(A) Gandhinagar (B) Bengalurus
(C) Jaipur (D) Anand

(C)
\‘\"hn amon:
founder of the
(A) Moham

Yidlh

FK-3




9. P=frfEaidmmmmm ot

(A) s (B) @M
ey wifa (D) v
40. Trafefea & 2 feg fees d aff =
T # 7
(A) g, 9%  (B) T, @UER
(C) wem,dien (D) FHEW, ™
41. SR R ‘oo v Prefefes § @
Tore wrez & wafaarh £ 7
(A) Fd (B)
©) = I
4. ‘@ aisw S 9 $ R o A
m««miammm
(A) A (B)
- (©) Imw (D)
43, Tu fywes o we yfeEm-
Fd-zR 7
(A) faw-fam = ¥q
o - W = Wi
(C) #or - & =T -

(D) TE-TF =
4. Poffeadidfrafisaigcawe ?
(A) mmﬁmwﬂn

(B) o8 &9+ iz e # |
€) ®- i %1 IR e T & |
(D)~ a7 iiaiﬁmmwtl
45. miﬁghﬂmmwm
(B) m -
(C) JvEEH (D) waHial
46. Frofufea § @ fra v F1 W@m THaEA
, AR ?
. (A) FEER (B) z¥
O A (D) ™
47, R tv | T FA | W@itea v A B W@
T R 7 _
(A) FHFH  (B) WIH HRE
(C) FHH HH

AT PIRTATITE FEA WG Y 5 AR PN AT

e TATH Y s AR UL ATV SAN P VLAT IR SO UL T, A

49.

48, ‘e id T ya R ?

(A f AB) ForT
C) ® (D) &
vy’ wraz 8 A | 39 & 7
(A) 3h A
€ # (D) ™
‘mﬁﬁa'mi'&hmmt?
(A) fawmd

(B) @wH

(C) FFerdTE JHTE

(D) ﬂ“m

i T % e & 7

(A) ﬂﬁnv AT

(©) qmn-:ﬂm (D) ufew +&@
g fues 1 3R fea T 8 S A
27
(A) Igmfag (B) s faea
©) =&t (D) iy R

‘gagd’ mﬁﬁwm%m
mmmu

W‘mﬁmt ?
(A) e fFan(B
(€) wgw fon

VIV TV & SO WINEA T Y A = 23



56. ‘g% S9N W1 gH R | ¥ AT H HE
A |
(A) ot st

§7. ‘tw anft e || W AR § B9 9§ A=
w7
(A) wHmE D) :;gm’l
(C) wmares (D) WHARETH
58, “foret AT WA AR %1 1 wATT :
(A) =% HH FA
(B) uT &1

(C) FTHHI HTAT
\(P) TIURY AT HHEE- TG HEA
59. ‘W wRAEmTE W

(B) HcOTu® HH ¥
(C) & =1 =g ME FA
DY I weft Mg T e T

61w RRmmwm i yEl

(A) @ (B) WTHRWE
ey w (D) #w@

62, arE fda it wgd = F fadt wmmd
aAE?
(A) 10 AB) 11
() 13 (D) 16

63. Fr=fafea # @ fvg sreer 3 aa ud &1
w arfyard & 7
(A) ver (B) 3w
(C) & (D) 9%

64, frafafes &3 ‘wm' vz &1 s e
frafm g R ?
(A) T (B) =

Preferfra T Y TG B T 5
I AN : (1. §. 65-69)

wTeR S SR e 3
TR T ¥ | @ g W T
e wfte T 3 @ 3R f
e 3 RrvafiTerdt % Sr4: FaTOH BT
otk 378 - & I I TEW H
R | v R A s ww & S
et G SR A Fww F G T
¥ afes 37 fe fim, =, e,
o 3k IE ¥ da A e @
mtmgwﬁ*miﬁ
Pt ! 3 aredn gt & ot vaa € |
sad ¥ @ & Refl gl W T %
sty fufir @geE # 3R s

e @, 3/ I A 6 9 @

0% e A e & o I T I
qUTH F1 GEE & I FANTE T IR
sl sgaEmma |
(A) ST ) g ﬁ
(B) wrdta fafdret i graen
(D) WRHN H@®! g

66. W ! Hit e T & wits
(B) ¥ It Wt % Wi ) gget I
YT &1 -1 T8 AH G |
g T 9 |
(D) 37! et w1 7rl F Jies -

LA TN SO PIENTTH
FONPIULAT YV PONPICIATIV Y A PR TYY

B e 1 1 24 s e S P
65. I9gEm v &g -
A AC) T farfrat = SHf-e
(A) 3 3ot v o for off ==t |
ASOY 3 It wma Wt frf areeRt @
A 7 7 |

KOV BT TV AN PERTA TIPS A S A T s

9
8






67. Wi wwisl ¥ d@s I, gady
o 1, wwl, I & S ¥ ot di9 §

it~
(A) 7 @ & gfa a2
(B) AFAFAEATHR |
(C) 39 wifeed i Wra d Tl ugr S |
(D) 3% aifees w1 W & gffaa wfm
€ 744 |
68. mmgﬂrﬂmmmmmm

AR A TR ? ,

(A) & \(B)— 3t

(©) (D) Wit
0. wrdta st & e & iy @ F
fpg @l d sefa By R 7
(A) 5=
€) TG (D) FTarh
el e T %1 Hhe 8 7
B TR @) Fig™
C) wERdiawi (D)

. Mmﬁmﬁ?
) #a ”
e D 1

70.

| ) HawW
72. frafafea § 3 =9 €t %
\xt}mt? .
el (B)
(C) = (D) aH
frafafea § @ 9@ #= I yFR &
Hiftaras frafaieo § 7
(a) faftmws  (B) PyegEs
(C) wwaE® (D)~ FevarEs
. Frefefas § @ v W= wEr
AR ? it :

o
Iy

(A) ¥a& uB) T

(€) *K (D) &

YAy’ -fommds g w1 "
-t A awaaER ?

(C) wgw-fEd (D) I -
i < e ww B A % g @
1%, %1 9E I |

77. U T # 119 § fasnfia 0 o 19 9
waar 2 | 3fe @ 17 @ Ranfia fsa g,
ot =7 99 ;=T 7

A number when divided by 119, leaves
19 as remainder. If it is divided by 17, it
will leave a remainder

A1 ~By2 (©)3 (D)4
78, wWewt: L1204 .
316x0:2
e VT8
Simplify : =
S 3.6x0.2 -
(A) 10 (BY12 (C)14 (D) 15

79. Fr=fafas wiwo § wawfamm ()% =

T e ?

What will replace the question mark (?)

in the followmgj cguation ?

5072.19 + 368.31Z + (?) =9018.618
3571.116 3578.112
3571:115° = 3578.116

@

139 % 3 4 & | Al s
ibers are in the ratio of 13 : 9. If
i$ 13, then find the largest number.

B) 169 (C) 117 (D) 143
: : TR
4 3 2 2,000 F gfg Bt 2
AR 0:57 & a2
FE AT e ? :
- Salaries of Rohan and Soham are in the
ratio 2 : 3. 1f the salary of each is increased
T 2,000, the new ratio becomes 40 : 57.

 What is Soham’s present salary ?
% 17,000 (B) 20,000
¥ 25,500 (D) T 34,000

82. feiepad, 20%8m 0T AFAIIYHE )

81.

g & g ) e, i P 48 w2 )

e 1 BTl 6 et e e R 7
In a certain school, 20% of students are
below 10 years of age. The number of

students above 10 years of age is % of

the number of students of 10 years age
which is 48. What is the total number of

1qﬁﬂmm%sﬁfﬁm 1099 #r

yo
#
s

(A) TR B) iy students in the school ?
poroted R | @ @ grin @ o
PO LY NS PINEATIYE SR LA 3 \q o 9 \ G|8 m
\ . ’2, qo\? 2
\\"\°°°o S°,\;_la'3\ \‘qb'5° Qw9000
T T T
% 6‘\ - C \Nn*nwooo-_-,\pox-b-gooq_




A

W

w a e e wadh oed R
mﬁmt%vﬁmmﬁm%

A of 3 R | Fr T sfe
wa i |
An article is sold at a certain price. By
n\\ingitat%ofthnpﬁeeoneloses
10%. Find the gain percent at original
“  price. :

(A) (B) 30%

5% (D) 38%

84. |U% GOy

é

. approximate sum.
(A) 297333
(C) ¥3,11533

% S ul
%%@ i # % L

< ﬁmmmlswiﬁadl %
QBQnﬁllﬁaﬁz!ﬂmﬁm

-

87. 4wk I 6 TR UH B B 10 >y

immtmsmmm
mmm’tsﬁﬂimmtu
ﬂmt? ' “I, .

4 boys and 6 girls can do a piece of v

in 10 days while 6 boys and 4 girls c,,
do the same work in 8 days. In ho,,

many can 4 boys and 2 girls do the
X/Z: B) 27/2

© %8 . © ®

, 14, 8, ... ®1 2191 %2 317

® 4 U
(D) 88 ‘JV
7

mm!ﬂﬁm(lm 10,0¢ m’)

The mgoﬁ circular field is 13.86
‘Thectares. Qxecostof&nmngnatthe
:mofxszggmm e

y mz) ‘,‘7.! ' T“’;:
B) 5, "_ja % 2

o e 9 fe/da

wm«mmn&wm

# R s m 7 4 9
<%

Howlongwillaboynketomwa

squmﬁeldofddeﬁmm!,if

at the rate of 9 km/hr ? . A

(A) 38 ¥E/sec. | (BY 40 ¥F/scc. *

(C) 42 ¥F/sec. (D) awm




N
%*(:.C\)‘b - LB*“q)gH 12 )
3°q: 8+|L‘1 Le,\' S_I) A 28
04 M ﬂ_-“" 2 W2 \ £l
juG =Y 6 + //249( /'5,:
5. . 91 R 98 : e T W1 A F I 96, 7 3 s
. ﬁ . .
T T R A 5 T L mmﬂ‘gaﬂfﬁ!ﬂ:mmﬁ
Q. Nos. 91 to 95 : 8 the bar graph | ofd, ofaw, o j
and answer the 0«“- "'/ : Choose the Venn diagram which best
w T M explains relationship among given :

Husband, Family, Wife

rcle represents men, then
ber of those men who are

old?

" ':.‘, (B) 5.

TR ;+’ =1 34 am 3,
-x'mmﬁmta’kumaﬁwmﬁ

ugntﬁauMqﬁWﬁ?
What was the _approximate perceiigy 3x24+8+4+2-3=2
mcn!;we mm%d?lm ein 2 5/S,\ If ¢+.v S.m'ds for div /ision, 4’ stands .for
A) 166.67% bggh 183.33% mult‘nphcatlon, ‘x’ stands for subtraction
@ losw @) 200% S a -4§Mﬁ;dd§,“3“‘h°!‘
o o el 2 R 0 B T 1 3 & IR
fog o a3 s e 8 S o 7 Cl ) © 61 (D) 63
In how many of the iven years was the 99. WﬁWﬂiﬂﬂﬂfm(X)ﬁw
prw:luctionwd %t; (p:oblfe& m% than ;he i ofa 1 |
¢ ion of the iy
?X;ralgp(a)z (c)3g:/‘9ﬁﬂ C_hoosetheeomctmmorumgeofthe
Mﬁﬁﬁuﬁﬁﬂmimﬁ ngg‘:(’ofwmmﬂwmefw
yﬁ!ﬁqﬁa&mﬁ? :
In which year was the percentage IIL ﬁ?) [@J
increase in produdcition as to ( j r °)
e |00 Oy Uo7 0)F
(C) 2005 2007 ) ) ;59490(0)
O TR AR
B : alacc 7% 3 -6+2




of the given word. Find that word.
ADMINISTRATI

101, 3 1 B A

Which _ on¢ X
:ally placed at the gaps in the
s?eeu:‘lgt‘tlaysgiu shall complete it ?

ard.angnamanand man
a 3)
ic mnadmna

(A foz
© R i

jon : Den : : Rabbit : (7) *
é Hole % Pit

% Burrow % Trench
104. BAPMPII) bC%NO: : %1}&,

© D)

frefafaa sgia # fa

iom
EU
105 m%w?

" How many triangles are there in the
following figure ?

A)8 @B 10 (C)12 28 LI
106.wwﬁamﬁmﬁ9mﬁaamt,m

) i s g & i 4 P e 8, P
ﬂﬂﬁgﬁd#ﬁmﬁmwm&&t
“ 2 e 3R gean & 3 4 et wwern @ |

D wﬁﬁyﬁﬁmf@tﬁémm
q A person moves in north direction by

9 km, then tums left and moves b{ 4 km,
again turns left and moves by 10 km,
again turns left and moves by 4 km. How
far the person is from initial position ?

statement, followed
numbered I, 11, III IV. You have to

. decide which of the argument(s)u/are

‘strong’ argument(s} and which is/.

‘weak' argument(s accore

choose your answer from the altem

iven below the question © e

tatement : Should India go in for
computerization in all possible
sectors ?

Arguments : }

L = Yes. It will bring efficiency and
accuracy in the w v

. No. It will be an injustice to the
monumental human  resources
which are at present underutilized.

MII. No. Computerization demands a lot
of money. We should not waste

monez'v%n it.

IV. Yes. When advanced countries are
introducing computers in every
field, how can India afford to lag
behind.

(A) Only I is strong.

B) Only I and II are strong. ﬁ

—A) |fEd/1km (B) 4 it D o
' y I and 111 are strong.
(©) 9f#okm (D) 14fFI4kn | (D) Onlylland Mlare Sl
FK‘3 ﬁ G CDGS q.{ésg '-0'; 1'2 w im'ﬁ'..ﬂ‘m\wflxﬁﬂ\g\wv.Q*M\ﬁr‘-.,"\—_‘:‘,.a
wUITS
=L . VIS



108, 3 foq g s # T U A I A |
sk 11 Feaifeea o wromd & o & | s

Foq 3N gron3 w faEm

s ¢ ok fofs @ & 5wl @

aron () wA & srariiea 8/ |

o : 27 Tt R 3 ffR e

aegafa & |
grond : 1. 5} 27 9T @ HREATE § @M

(A)

AB) ;
(© m!ﬁlmﬂmlﬂw

(@) FAIMAARN
Jor:gictquesiort oy

~ Assumptions : :
L. Onewho willbe imprisoned for 27
~ years will become the President.
Il. To become the  President
. imprisonment is a qualification.”™
~ (A) Only assumption I is impiicit.
assl mp .On " is implicit.
or ITis implicit.
or 11 is implicit.

Ve f e v

. .
Lo

M S ‘:.
s ! i
. §
&

¥R Fuflzan & qmra :
&t R, faan 3137 O SFsie 3
A. 370 (1) 8, ST 70% 3@ F 79
e ot 3, A ki
ﬁﬁmmmtlt R,
IR (2) #, e Rrew e & wv
1 %19 F 1 FH A FW 2 G F FE
R, @ mmen sam, vl afify @ S o
geEa | :
frfefaa v@® v § v Iafrean % o
§ e € R | S9! I qeEE
3in fo sfera rtaré o e gl | e
ﬁwﬂ%mwﬁmm
i, ame R 1-10-2005 H

ing minimum 65% marks.
§ at least 50% marks in the

Selection Test.
have secured at least 40% marks in the

- Interview.
(4) not be less than 21 years and not more
than 30 years of age as on 1-10-2005.

In case of candidate who satisfies all other

criteria, except :

A. At (1) above, but is an Electronics
Engineer with 70% marks, the case may

be referred to the GM, Recruitment.

At (2) above, but is having at least

2 years’ experience of working as a

Systems Analyst, the case may be

referred to the Chairman, Recruitment

Committee.
In each of the following question,
information about one candidate is given.

You have to analyse it with reference to
the above criteria and condition and then

decide the appropriate course of action.
You are not to assume anything other
than the given information. All these

cases are given to you as on 1-10-2005.

(4) %1 37 1-10-2005 31 21 788 7w 3K 30
g |

ad & st 7 Wl

PN PRUTN CE A LA T L AN

)
13

TACTY o AN PMNEATIY R O WA ATV YR AONPSREA WL AN TN Y S
FK-3

Ve FANPINT

T



109. o 75% 3t & e v ffe et
2 | 3! I 6 eI, 1976 Y BT o1 |
:ﬂiﬁwwﬁmﬁ 70% 37 3T HIHTEHR
3 429 3 s R |
(A) o gesfizam & v e R |

‘/(B)A;ﬁmﬁ'(w:tﬂﬁmm
|

FATR |
(D) f e e, Sl Y Sy ST |
Sanjay is a Civil Engineer with 75%
marks. He was born on 6™ July, 1976. He
' scored 70% marks in the Selection Test
and 42% marks in the Interview.

| (A) Ifthe candidate is to be selected.
| (B) Ifthe candidate is nobio be selected.
\ (C) If the case is t0 be referred to the
‘ Chairman, Recruitment Committee.

( (D) If the case is to be referred to the
‘ \ GM, Recruitment. |

DALY
' lﬁt:zai 70%

QIR

s % wr Ty e | S

n ﬁmwmw,“mﬁ
| mf&smaz1999ﬁn’rmismﬁm

| smaEd s # Wit e A

_ \\‘ ) 2002 3 frezn TATTRTR % ¥9 H 9E-10 8G |

\ 110, A 9@ 3 1998 H 22

m&mmmﬁmm% |
- ® ﬁwﬁmwwwﬁﬁmm% |
’k e A serd, Wl gl &t ST

ew and 55% marks

company . He joined an IIT
promoted S
December 200 7V ke

(A) If the cand
(B) Ifthe candida
(C) If the cas¢ is 18

Chairman, Recruitigs
(D) If the case is to be'n
GM, Recruitment, =

FK-3

Jf;

111. m%ﬂm(m&a)ﬁso‘%mm
T gt 3 78% 31 ST

< e 3R TR I 3% .
559, 3t 60% % | T® 2001 R frem
¥sadwsE WA E | Ih

m:qﬁﬁ:tﬁw e, 19808 | i
(A) __WWWMWN A
(B _affe safear w1 T T e
S L3 i

(C) af wmen sveaw, Wl wfuf w o
s R |
(D) f mmee SfrH, sl bt o S R
Ankit scored 80% marks in B.Sc. (IT)
and 78% marks in Electronics
Engineering. His scores at the Selection
Test and the Interview are 55% and 60%
respectively. He has been working as
Systems$ Analyst since 2001. His date of
birth is 19 April, 1980.
(A) Ifthe candidate is to be selected.
(B) [Ifthe candidate is not to be selected.
(C) If the case is to be referred to the
Chairman, Recruitment Committee.
(D) If the case is to be referred to the
GM, Recruitment.

R, TE HR TR, 2003 § 22 FW
1 3 3 3t v ¥ 72% I S A
Iefivl gon | IE R T H 70% I
PR TR 48% 3 W R |
A R sefiEar &1 = R A 2
(B) e Faftear ) =@ A PR IR |
(C) af wmwen eAH, weff wfify i S
IR |
(D) IR |
Vijay, a Computer Engineer, passed out
with 72% marks in the final examination
at the age of 22 years in 2003. He
secured 70% marks in the Selection Test
and 48% marks in the Interview.
(A) Ifthe candidate is to be selected.
(B) Ifthe candidate is notto be selected.
(C) 1If the case is to be referred to the
Chairman, Recruitment Committee.
(D) Data inadequate.
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Divya is a Computer Engineer with 80%
p\arks. She scored more than 55% marks
in the Interview and the Selection Test.
She has worked in XYZ company as a
Systems Analyst for more than 5 years.
(A) If the candidate is to be selected.

TR g
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You are stationed as a police officer, an

HEM
D)

agimedaowdataloc-lﬁiraocMa
teenager of theft and attempts mob
ynchins.YoushOuId:

|
(A) mefgmgtomestmeaecmedfor

duress.
mob punish the accused if

proof available.

®) dew @ ¥ ¥ fog Faws
FoEd Y Hrear e Fmee |
Wﬁﬁmgﬁam
s e =i |
(D) Tkt iR sREE R R
— g &L bl o as

=i |

Youancstationedasapol
receive reliable information

ice officer, you
of preparations
ing local body

HE IR |
As head of police in a riot-hit mixed
religious locality, you should
(A) impose indefinite curfew till
tensions subside.
(B) table concerns with municipal
©)

authorities for resolution.

act tough on miscreants crossing
community lines.

en, elders to reconcile groups
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You are stationed as a olice officer; 10

prcmm furth‘cr c‘:(\iscs of card cloning at

TMs, you should : 24 '

2\/\) \c?npnr'ari}y.disablc all ATMs In
the jurisdiction. .

(B) examine ATM machine access logs
for anomalies. _ :

(C) place one observer each.n all ATMs
1o identify suspicious accomplices,

(D) purchase car cloning machine

prototypes 10 understand Jogy
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You are an Investigating officer; the
primary accused in a VIP assassination
case 1§ offering huge bribes for
manipulating evidence and influencing

judges to ensure acquittal. You should :

(A) comply on records but secretly
collect dialogue a%ains( accused.
(B) remain uncorrul) ed and present
_ facts transparent g in court.
(C) pretend to agree but submit weakly
abricated bogus evidence.
(D) avoid investigating as per your
independent professional judgement.
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You arc a copstable in a special cell that
deals with cyber crimes and online frauds.
You have been trained in various aspects
of cyber security and digital forensics.
However, due to a shortage of staff, you
are assigned to a patrol duty where you
have to patrol the streets and respond to
emergency calls. You feel that this is a
boring and mundane task that does not
suit your expertise, You should :

(A) refuse to do the patrol duty and
insist on staying in the cyber cell.

do the patrol duty reluctantly and
complain about it to your superiors
and colleagues.

do the patrol duty but constantly
look for opportunity of taking leave.
do the patrol duty enthusiastically

and learn from the experiences of
other patrol officers.

BN P NOEY L MO ATV vy LAWY ¢
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DY AN

\
* “,\

(B)
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(D)

o




120. W%m%ﬁmmﬁ@ﬂh

frfieres H) TRE S SE |

When investigating rape forensic
evidence from victim, you should :

(A) complete documentation  along
\/GBY with FIR using pseugo-name.

personally interview the victim in
©
(D)

lain clothes to build trust.
Bocus on Medical Fiﬁiti 'ru@;lcssly
without any women police Pre: ent.
transfer to equn,_o;ggg_;d;ﬁ yoman
Inspector out direct
involvement. v

121, TEETR IEH FfEE § @ S E,
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In the climax stage of a nationwide terror

manhunt, you learn your only parent

suffers a debilitating stroke. You should :

(A) handover reins to accomplished
deputy for family priority.

(B) remotely coordinate certain areas
without Ops leadership.

(C) conceal news avoiding distraction
till mission completion.

(D) commit singular focus expecting
siblings to handle parent.

(D) e daa
Aera & P AFLHT aﬁ%ﬂgu
olice officer, you notice certain
f;?i;iozs minorities  being  denied
neighbourhood entry. Youshould:
(A) arrest and prosecute housing
societies flouting laws.
(B) refer complaints to state’s minority
(C) organize

welfare schemes. .
organize multi-faith community
dialogues to ease tensions. ]
_enforce diversity by posting
"minority community officers.

123, G oA ST 5 & H, RS AT

(A) @i & fore fem-rfbrsr FHeE
wadae! ) afafgE e =R |
@) @ =W W & W W
I AT T HET TR |
Loy st 3 Rees wwe SgeTEe®
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As a police officer, transgender citizens
report facing harassment and dignity

violations during law enforcement
iteractions. You should :

(A) depute gender-rights community
@) volunteers for engagements.

implement mass sensitization
©) :
against offenders.

drives on appropriate conduct.
enforce strict disciplinary actions
(D) take complaint and forward it to
” .Human Rights Commission.

WYL ORI AT
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As a police officer, what would guide
your decision-making in enforcing laws ?

(B)
qiY

(€)

(D)

(A) Strict adherence 10 the letter of the
law, regardless of  individual
circumstances.

(B) Balancing legal requiremcnis with
empathy and consideration for the
situation.

(C) Following the orders of you
superiors without questioning theis
judgment.

(D) Applying personal moral values
even if they conflict  with
established regulations.

125, w qfera T & & . a9 T

frat % U gferd R ¥ foraa fRa e
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(A) WA EEE At
(B) e st
() gfera s

(D)  39-wEA (I
As a police officer, you are assigned to a
police station in a district. Which of the
following is the name of the officer who
is in-charge of the police station 7

n(A] Station House Officer
(B) Circle Officer
(C) Superintendent of Police
(D) Deputy Inspector General

FK-3

O e s e
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As a police officer, certain religious

yiolate  Supreme Court

diréetions on entry of women in places
of worship. You should :

(A) enforce directions by removing
opposing groups if necessary.

(B) “publicly threaten charges against
customs upholding court rulings.

(C) avoid the situation by taking
leaves.

(D) sensitize opinion leaders leveraging

spiritual heads’ assistance.

127. m%@(?)%&@mmmﬁmdﬁ\

uf ;&= ;e ¢ ? o
(A) =H&H (B) € g
AC) =i (D) wrem

Find suitable alternative in place of
question mark (?).
Mother : Child : : Cloud : ?

(A) Shine (B) Loud

STy

(C) Rain (D) Weather

-
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In the following question, some words
are given, They have some common
features except the odd one. You are
required to find odd one out.

(A) Annoy (B) Distress

(C) Harass (D) Ravage

129. f2u wu famedt § @ ag @ Resa g4 A
S B G HOT :

Choose the correct alternative from given

ones that will complete the series :
0%, @

23,15.9, 79.6, 423,
(A) 5632
(C) 10300

SUNDAY® be Wil el
(A) WUZRYX 4B UWZRYW
(€) WUZWYR (D) UWZYWR

131. ¥ IR ¥ 7 fft weran 8, ot ag sl
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Shyam travels 7 km North, then he turns
to his right and walks 3 km, He again
turns to his right and moves 7 km
forward. Now in which direction is he
from his starting point ?
(A) North L(BY" East

(C) South (D) West

PBC

%
st wgan & | o g A WA fig @
frafemaR 7
(A) IW (B)

(C) Zfaor (D) ufeemy 134.

(€) 130° (D) 135°
e s e

(S //:{d 5'.

g‘m@rﬁ:mzﬁwaﬁ'tlm ot =
wié & | T F e we & | o, T B
24 § | T, vitae g B ) Ofkm, TR F
wié %1 321 & 1 A, g A Fra TR
gafa d 7 :

(A) e (B) ¥
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Suresh's sister is the wife of Ram. Ram
is Rani’s brother. Ram’s father 1is
Madhur. Sheetal is Ram’s grandmother.
Rema is Sheetal’s daughtcr-m-law Rohit
is Rani’s brother's son. How is Rohit
related to Suresh ?

(A) Brother-in-law (B) Son

(C) Brother (D) Ncphew AT 25 T.

<1L '7 AL

afy =z - stJTUAl" # 7t e ot
v wilea sea # wge fan s R,
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If in the ‘word “SPIRITUAL?”, position of
second and fifth letter is interchanged,
similarly position of fourth and sixth
letter is interchanged with seventh and
ninth letters respectively, then how many
pair of letters in the new word have as
many letters between them (either
forward or backward) as they have in the
English alphabet series ?

(A) 3 (B) 4

© 5 (D) 6

U T3t YU (noon) H T UE 6 w1t
;;;tm 10 e =, w2 9t 5§ ym 96

A clock is started at noon. By 10 minutes
past 4, the hour hand has turned through

(A) 120° ) 125°
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Study the following figure and answer

the question given below.,
[(]- sfufem =l /

2\ o Trained nurses

3/ [3]aN
6/ 2

A—b maﬁ:ﬂ/

Nurses in hospital

e 7 & gt s d 7
(A) whfia &

136, maamm e v, T,

& i Fa s W

72
Whidl of the following diagrams best
indicates the relation between India,

BN PR LN Y A

138. ue dfer o fufee ard & 178 3 Ed & 15
o W R, A 39 dfF § Iefieand € 5
He e & 2
In a row Mihir is 17® from the left and

19"™ from the right, then what is the tota)
number of candidates in that row ?

(A) 29 (B) 31

7 35 (D) 36

139, 7 5 & el A 4 x 3 x 3 W E |
M 4x3F Bria e @ A @
e # | 3 FAW 4 x 3 % Rt vew
o o & o e # | 3w 3 x 3 % fawda
S o § ;g ¥ | 3@ v w1
gmuﬁdiua’iimﬁmmh@
fre orga & P f som ot & 7

Theglis @ cuboid whose dimensions are
3 cm. The opposite faces of
4 x 3 are coloured yellow.

ssite faces of other dimensions

e coloured red. The opposite
faces of dimensions 3 x 3 are coloured

green. Nov mecubondxscutmtonmn
cubes of side 1 cm. How many small
cubes have three faces coloured ?
(A) 8 B) 12
©) 16 (D) 20

P ferfira e 3 o e fo v 8,
are a3 v feg o &, Fed & o Y
e yrez % e 1 ITAW HH AT A

et IR |

In the following question, a word has
been given, followed by four other
words,oneofwh:chcanbeformedusmg
the letters of the given word. Find that
word.

MEASUREMENT _

(A) ASSURE (B) SUMMIT

140.

(D) MANTLE

A AN AL AN PENGA T R ST UL TV S AN PIVEA TP A RS AT o
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A scientist is trying to recall the access

code to a secure [laboratory. He

remembers the following details :

(M

The code starts with the digit 5.

(2) The code ends with 987.

(3) The second digit is the sum of the
first digit and 3.

(4) The third digit is half of the second

digit.
Now, considering these conditions, the
scientist has narrowed down four
potential access codes for the laboratory.

Find the suitable one.

BY 584987

(D) 548987

(A) 542987

(C) 563987

19
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In the ‘question below two statements

followed by three conclusions numbered

I, II and III are given. You have to

assume everything in the statements 10

be true, then consider the three

conclusions together and decide which of

them logically follows beyond a

reasonable doubt from the information

given in the statements,

Statements :

I. Water has no shape, has volume.

II. The knowledge is like water,
flowed from one side to other.

Conclusions :

I.  The knowledge is interdisciplinary.

I[I. The knowledge is bound within a
specific area.

III. The knowledge influences the core
of mental activity directly.

(A) . Only conclusion I follows.

(B) Only conclusion II follows.

(C) Both I and II follow.

(D) Both I and 111 follow.
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Choose the alternative which closely
resembles the mirror image of the given
combination.

l;‘BAI;\:?éklﬂll

10ARSH
(B) IHGIQARSAH
(c) THAIQAMSH
(D) THIIOARAE

144, wa T 6 TRt (X) # i o gt @
(1), (), () 3 (@) F F B @ sHh
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Sl :
and (4) m‘u°fmed“‘é‘§3,‘3;‘§3;§2

r&qﬁlﬁw figure (X). |
Qb,;":: i N

father. E is D's mother. Tk
related to D2

(A) Grand mother
(B) Grand father :
(C) Daughter Ju .
(D) Grand daughter
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147. ﬁqmiiéﬁamﬁmﬁﬁqm
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1. 9&H 2. W@

3. f&, 4. M

5. &M '

Which of the following option would be
meaningful order of the following words ?
1.  Exhaust 2. Night

3. Day 4. Sleep

5. Work

(A) 1,3,5,4,2_By 3,5 1,2,4

") 3,51,42 (D) XS4
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The number of apples in a basket
doubles every minute. If the basket is full
of apples in an hour, when was the
basket half-filled ?

(A) 38 minutes (B) 47 minutes
(C) 55 minutes (D) 59 minutes

mﬁ:los+36x%+ i x 3L

4

9 .1
il

150.

Simplify : 108 + 36 x % !

1 1
A) 1— -
(A) >0 220
1 1

© 27 (D} 222



